
1 >f]t -1=1 b]lv 1=5 ;Dd_ 17,006,892             16,527,520             14,767,186             

1=1 r'Qmf k"+hL 2,239,370                2,239,370                2,084,250              

1=2 hu]*f tyf sf]if 652,864                  547,103                  548,266                 

1=3 hLjg aLdf sf]if 14,011,527               13,653,237               12,063,965              

1=4 dxf ljkQL hu]*f 103,132                   87,811                   70,704                  

1=5 ltg{af+ls bL#{sflng C)f tyf ;fk^L -                        -                       -                       

2 pkof]u -2=1 b]lv 2=6 ;Dd_ 17,006,892             16,527,520             14,767,186             

2=1 l:y/ ;DkQL -v'b_ 53,027                    61,795                    54,343                   

2=2 bL#{sflng nufgL tyf shf{ 9,191,204                3,038,189               2,732,177                

2=3 aLdfn]v lwtf]df shf{ 1,478,041               1,323,460                979,026                 

2=4 v'b rfn' ;DkQL = (3) - -4_ 6,284,621               12,104,076             11,001,639             

2=5 ckn]vg jf ;dfof]hg x'g af+ls ljljw vr{ -                        -                       -                       

2=6 gfkmf gf]S;fg lx;fjjf^ ;f/]sf] gf]S;fg -                        -                       -                       

3 rfn' ;DkQL shf{ tyf k]ZsLx?-3=1 b]lv 3=3 ;Dd_ 7,127,834               12,588,625             11,479,082            

3=1 gub tyf a}+s df}Hbft 32,101                     136,769                   70,704                  

3=2 cNksflng nufgL tyf shf{ 5,704,437               11,011,407              10,283,907             

3=3 cGo ;DkQL 1,391,296                 1,440,449              1,124,471               

4 rfn' bfloTj tyf Joj:yfx? 843,213                 484,549               477,442               

4=1 rfn' bfloTj 450,561                  151,328                  237,010                  

4=2 c;dfKt hf]lvd jfkt Joj:yf 84,400                   -                       34,696                   

4=3 e'QmfgL x'g af+ls bfjL jfkt Joj:yf 2,082                     2,082                     2,082                    

4=4 cGo Joj:yf 306,171                   331,140                  203,654                 

1 cfDbfgL -1=1 b]lv 1=5 ;Dd_ 217,905                 155,515                 176,175                 

1=1 cfo Joo lx;fjjf^ ;f/]sf] 10,747                    10,141                   (3,330)                     

1=2 hLjg aLdf sf]ifjf^ ;f/]sf] -                        -                       -                       

1=3 nufgL shf{ tyf cGojf^ cfo 207,157                  141,238                  179,505                 

1=4 Joj:yf lkmtf{ -                        4,135                     -                       

1=5 cGo cfDbfgL -                        -                       -                       

2 Joj:yfkg tyf vr{x? -2=1 b]lv 2=8 ;Dd_ 56,678                   27,956                  44,571                 

2=1 Aoj:yfkg vr{ 24,156                    14,448                  22,444                  

2=2 ckn]vg vr{ -                        -                       -                       

2=3 cGo vr{x? 809                       752                       2,075                     

2=4 gf]S;fgLsf] nflu Joj:yf 15,590                    -                       6,892                     

2=5 sd{rf/L cfjf; Joj:yf -                        -                       -                       

2=6 sd{rf/L af]g; Joj:yf 16,123                     12,756                    13,160                    

2=7 cfos/ -                        -                       -                       

2=8 hLjg aLdf sf]ifdf ;f/]sf] -                        -                       -                       

gfkmf gf]S;fg lx;fj

qm=;+= ljj/)f

 n]vf kl/If)f gePsf] 

o; q}dfl;ssf] cGTo 

;Dddf 

n]vf kl/If)f gePsf] 

cl#Nnf] q}dfl;ssf] 

cGTo ;Dddf

n]vf kl/If)f gePsf] 

cl#Nnf] cf=j=sf] 

;DjlGwt cGTodf

u'/fF; nfOkm OG:of]/]G; sDkgL ln=

 ltgs'g], sf7df08f}, g]kfn . 

kmf]g g+=M )!%!((!)%, ˆofS; g+= )!%!(()^! kf]=a=g=!($(( Od]nMinfo@guranslife.com
cfly{s jif{ 2079.080 sf]  t]>f]  q}dfl;ssf] ljlQo ljj/)f

                              jf;nft                -/sd ?=xhf/df_

qm=; ljj/)f

 n]vf kl/If)f gePsf] 

o; q}dfl;ssf] cGTo 

;Dddf 

n]vf kl/If)f gePsf] 

cl#Nnf] q}dfl;ssf]        

cGTo ;Dddf

n]vf kl/If)f gePsf] 

cl#Nnf] cf=j=sf] 

;DjlGwt cGTodf



v"b gfkmf - gf]S;fg -1-2_ 161,227                  127,559                 131,604                 



1 cfo -1=1 - 1=7_ 3,356,978               2,089,989             3,178,134              

1=1 aLdfz'Ns  -v'b_ 2,221,443                1,422,091               2,354,973               

1=2 k"gjL{df sldzg cfo -                        -                       -                       

1=3 nufgL, shf{ tyf cGojf^ cfo 873,675                  574,083                 706,679                  

1=4 aLdfn]v lwtf]df shf{jf^ cfo 103,774                  65,711                    89,080                  

1=5 cGo k|ToIf cfo 43,845                   23,350                    21,156                    

1=6 q}dfl;ssf] z'?sf] e'QmfgL x'g af+sL bfjL jfkt Joj:yf 2,082                     2,082                     3,071                     

1=7 q}dfl;ssf] z'?sf] c;dfKt hf]lvd jfkt Joj:yf 112,159                   2,673                     3,175                     

2 Joo -2=1 b]lv 2=10_ 1,542,849              876,636                 1,711,420              

2=1 bfjL e'QmfgL -v'b_ 980,338                  588,431                 1,166,148                

2=2 clestf{ sldzg 235,531                   142,607                  281,305                  

2=3 :jf:Yo kl/If)f z'Ns 880                       531                        1,640                     

2=4 k"gjL{df sldzg vr{ -                        -                       -                       

2=5 ;]jf z'Ns -v'b_ 22,214                    12,950                   23,550                   

2=6 cGo k|ToIf vr{ -                        -                       -                       

2=7 Joj:yfkg vr{ 217,405                  130,035                  201,999                 

2=8 cfos/ -                        -                       -                       

2=9 q}dfl;ssf] cGTosf]] e'QmfgL x'g af+sL bfjL jfkt Joj:yf 2,082                     2,082                     2,082                    

2=10 q}dfl;ssf] cGTosf]]] c;dfKt hf]lvd jfkt Joj:yf 84,400                   -                       34,696                   

3 art -1 - 2_ 1,814,128               1,213,354               1,466,714              

3=1 hLjg aLdf sf]ifdf ;f/]sf] 1,803,381                1,203,213                1,470,044              

3=2 gfkmf gf]S;fg lx;fjdf ;f/]sf] 10,747                    10,141                   (3,330)                     

1 aLdfz'Ns cfh{g -s"n_ -/sd ?= xhf/df_ xfn;Dd 19,025,430              18,216,687              16,084,306             

2 aLdfz'Ns cfh{g 2,243,882               1,435,041               2,383,545               

3 s'n bfjL e'QmfgL /sd -? xhf/df_ xfn;Dd 6,002,884               5,608,643               3,334,721                

4 s'n bfjL e'QmfgL /sd 1,000,268                612,007                  1,175,591                

5 s'n bfjL e'QmfgL -;+Vofdf_ xfn;Dd 21,698                    17,260                    11,365                    

6 s'n bfjL e'QmfgL -;+Vofdf_ 4,438                     1,457                     2,106                     

7 s"n sfod /x]sf] aLdfn]vsf] ;+Vof 164,806                  165,563                   158,245                 

8 #f]lift d'gfkmf -af]g;_ sf] b/ -==========b]lv=========;Dd_ 20-75 20-75 23-81

9 cGtl/d d'gfkmf -af]g;_ sf] b/ -==========b]lv=========;Dd_ 20-75 20-75 23-81

10 e'QmfgL x'g afsL bfjL /sd -? xhf/df_ 2,082                     2,082                     2,082                    

11 e'QmfgL x'g afsL bfjL ;+Vofdf 12                          12                         12                         

o; q}dfl;ssf] ljlQo ljj/)fdf :yug s/ cfo÷vr{ u)fgf ul/Psf] %}g f 

ljdf+sLo d 'NofEg / ;f] kZrft\ x"g cfpg]] gfkmfn]] k|ltz]o/ cfDbfgL tyf g]^jy{ ;a}df kl/jt{g x 'g ;Sg]% . 

n]vf kl/If)f gePsf c+sx? n]vf kl/If)f tyf aLdf ;ldltsf] lgb]{zg kZrft x]/ km]/ x'g ;Sg]% .

a}b]lzs Doflb hLjg aLdf kúnaf^ lx;fa k|fKt gePsfn] ;f] /sdnfO{ ;dfj]z ul/Psf] %}g .

ut q}dfl;ssf] c+sdf cfjZostf cg';f/ kl/jt{g ul/Psf] % . 

sf/f]af/ k|f/De ldltM 2065.02.17

cGo ljj/)f

qm=;+= ljj/)f

 n]vf kl/If)f 

gePsf]o; q}dfl;ssf] 

cGTo ;Dddf 

n]vf kl/If)f 

gePsf]cl#Nnf] 

q}dfl;ssf] cGTo ;Dddf

n]vf kl/If)f gePsf] 

cl#Nnf] cf=j=sf] 

;DjlGwt cGTodf

Plss[t cfo Joo lx;fj

qm=;+= ljj/)f

 n]vf kl/If)f gePsf] 

o; q}dfl;ssf] cGTo 

;Dddf 

n]vf kl/If)f gePsf] 

cl#Nnf] q}dfl;ssf]        

cGTo ;Dddf

n]vf kl/If)f gePsf] 

cl#Nnf] cf=j=sf] 

;DjlGwt cGTodf





k|lt 

z]o/ 

cfDbfgL 

-jflif{s_  

?= 

9.60                                                k|lt z]o/ g]^jy{  ?= 133.76              

d'No 

cfDbfgL 

cg'kft 

39.59                                                     k|lt z]o/ s'n ;DklQsf] d'No  ?= 797.10             

clwst

d d"No ?=$*(  ?=353.1

clGtd 

d'No 

?=   380 sf/f]jf/ ePsf] s'n lbgM 47

sf/f]jf/  ;+Vof 

7203

o; sDkgLsf] z]o/ ldlt @)^&÷!@÷@$ df g]kfn :6s PS:r]Ghdf ;'lrs[t ePsf], @)^*÷)!÷!$ ut]af6 z]o/ sf/f]af/ ;'? ePsf] 5 

. o; q}dfl;s cjlwsf] sf/f]af/ lgDg /x]sf] 5 .

Go'gtd d"No

%= ;d:of tyf r'gf}tLx?

hgr]tgfsf] cefj Pj+ hLjg aLdf Joj;fodf yk gof‘ sDkgLx?sf] k|j]z ;u} ahf/df tLa| Pj+ c:j:y k|lt:kyf{sf] cj:yf xfnsf] d'Vo 

;d:of tyf r'gf}tL /x]sf] 5 . 

^= ;+:yfut ;'zf;g

@= Joj:yfksLo ljZn]if0f 

s_ o; cjlwdf sDkgLsf] s'n aLdfz'Ns cfDbfgL ?= @@$=#( s/f]8 /x]sf] 5 .

v_ o; q}dfl;s calwdf sDkgLsf] Aofkf/ tyf lalQo l:ytL ck]lIft ?kdf ;Gtf]ifhgs /x]sf] 5 . hLag aLdf pBf]udf ljBdfg tLa| 

k|lt:kwf{nfO{ sDkgLn] r'g}ltsf] ;fy} ca;/sf] ?kdf lnO{ cfufld lbgx?df cem Aojl:yt agfO{ hLag aLdfsf] ;]af cem Aofks / 

la:tf/ ug]{ nIo lnPsf] 5  . 

u_ cfufdL lbgdf sDkgLsf] Joj;fonfO{ cem clej[l4 ug{sf nfuL ;]jfu|fxLnfO{ pRr:t/Lo ;]jf k|bfg ub}{ b]zsf ;Dk"0f{ lhNnfdf aLdf 

;DalGw ;r]tgf sfo{qmdx? ;+rfng u/L bIf aLdf clestf{x? pTkfbg u/L aLdfsf] kx'Fr b]zsf k|To]s ufFp 6f]ndf k'¥ofpg] nIo 

lnPsf] 5 . 

#= sfg"gL sf/jfxL ;DalGw ljj/0fM gePsf] 

$= sDkgLsf] z]o/ sf/f]jf/ ;DalGw ljj/0f 

lwtf]kq btf{ tyf lgisfzg lgodfjnL @)&# sf] lgod @^ sf] pklgod ! ;Fu ;DalGwt_

kmf]g g+=M )!%!((!)%, ˆofS; g+= )!%!(()^! kf]=a=g=!($(( Od]nMinfo@guranslife.com

! ljQLo ljj/0f 

s= q}dfl;s cjlwsf] jf;nft, gfkmf gf]S;fg ;DalGw ljj/0f . (Unaudited)

o; sDkgLsf] cf=j=@)&(÷)*) sf] t]>f] q}dfl;s  cjlwsf] jf;nft, gfkmf gf]S;fg tyf cfo Joo lx;fj ljj/0f o;};fy k|sflzt 

ul/Psf] 5 . 

v= k|d'v ljQLo cg'kftx? 



&= ;To tYo ;DaGwdf sfo{sf/L k|d'vsf] pb\3f]if0f 

cfhsf] ldlt;Dd o; k|ltj]bgdf pNn]lvt hfgsf/L tyf ljj/0fx?sf] z'4tf ;DaGwdf d JolQmut ?kdf pQ/bfloTj lnG5' . ;fy} d of] 

pb\3f]if0f ub{5' ls d}n] hfg] a'em];Dd o; k|ltj]bgdf pNn]lvt ljj/0fx? ;To, tYo / k"0f{ 5g\ / nufgLstf{x?nfO{ ;';"'lrt ug{ cfjZos 

s'g} ljj/0f ;"rgf tyf hfgsf/Lx? n'sfO{Psf] 5}g . 

;+:yfut ;"zf;g clej[l4sf nflu Joj:yfkg4f/f rflnPsf sbd ;DaGwL ljj/0f M  o; sDkgLn] ljBdfg sfg'g tyf lglt lgod / 

lgodsf/L lgsfox?af6 k|fKt lgb]{zgx? D'ftfljs ;+rfns ;ldltsf] pQ/bfoLk"0f{ e"ldsfaf6 ljleGg Dofg'cn / lgodfjnLx? Tfh'{df u/L 

kf/bzL{ Pj+ hjfkmb]xL ?kdf cfˆgf] Joj;fo ;+rfng ub]{ cfPsf] 5 .  




